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for n in range(nt):
hn = h.copy()

un = u.copy()
# BOBKIR (GRS )
h flux = (hn[:-1] * un[:-1] - hn[1:] * un[1:]) /dt
h[1:-1]-= (dt/dx) * (h_flux[1:] - h_flux[:-1])
# HOBTHEE (ZhiE i)
u flux = (hn[:-1] * un[:-1] ** 2 - hn[1:] * un[:1] **
2) /dt
grad h = (hn[1:]-hn[:-1])/ dx
# TR RO (S0
diff u = nu t* (un[2:] -2 * un[1l:-1] + un[:-2]) / dx
ks 2
diff u'” = 0 # ZEh R BT R0
diff u[-1] = 0 # A7 A AY W R0
un[l:-1] = (dt/dx) * (u_flux[1:-1] - u_flux[:-1]) - dt
* g * grad h[1:-1]+ dt * diff u[1:-1]# KR8 hE 5 0
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u” =0
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